R
Uill
T

1. T4 W - BRI L HE R P R R T
2. i T 35 At WhTER YR+ THS—2 fil
3 T 1] BRFERE A0S SFfn 5 11H 17HET

nX n+%g

@EB*%@EI$
ERCICAEO B BGER f TF—o0, FEEE L3— 0 B TH




FH ETEHERE AR SR L T EMASFE R N ER
w A F 4 16,181,000 A=
T = i #& 4 14,710,000 RS

THE B AH X %8 4 1,471,000 Ay




£ Ty R EE S HEE AR A E L No.
P R i) B ¥ o= HANL LA &  H it
RN
1| Hehais T3 e 3,132,760
| wadmrs e 3,885,110
m| T e 2,629,150
EE T A 9,647,020
SISk
SR R 7 e 518,817
Bl = 2,648,496
— TR e 1,896,520
HmEE 5,063,833
e 14,710,853
R EHAAE (L3 MmEg) TR FE0ET 14,710,000
VHE B S5 FH 2 48 1,471,000
WA (LFEE) 16,181,000




& Py B« A9 B ) o] P e = e 5 No.
% 14 i s X{vA B A & i

I | Bk Lg%

[# B ohHER ]
1 |ZEGRR RN R A = 618,029
2 |HRERA = 43,270
3 MR ERRE =X 167,580
4 |FaKE = 165,900
5 |HEAKE A =X 99,866
6 |fadiax i = 264,975
7| H R =X 27,120
8 |[WiETEFE =X 171,233

G e 3yiidET) |
1 |ZE G R RN A 2V 599,259
2 |HRERA 2V 51,920
3 |fErAEss Bk =X 167,580
4 |fa/KE =X 207,412
5 |HEAKERA =X 101,243
6 |faira i =X 225,740
7 | AR =X 27,120
8 [MELEF =X 194,513
ARl 3,132,760




4 FR =R RS S E L No.
4 i i ¥ B | HAL B Ko | i
O [EXa&ELE
75 B S
1 | R 1) BT 1] =& 1,065,040
2) AT syl 1] =& 181,350
R = g N 3 1] =X 117,380
2 |Eh ikl 1] =X 397,230
3 KRR 1| =X 16,530
/N F 1,777,530
FEE S HE
1 |FEAT R 1) BT AR 1] =X 1,414,000
2) BB LT 4yl 1] =X 160,120
3) B My 1] = 229,980
2 |Eh )R 1] X 180,200
3 KRR 1] =X 123,280
/N 2,107,580
&t 3,885,110




£ EFE - BEEYHEREESZEISE No. 3
£ L i3] = | Bfu i %8 &
I |BEITE
A |[FERSHEE]
A-1 |ERGR LF 1.0 = 72,314
A-2 |NEEKE T F .o = 507,298
A-3 2=y N OE DM T 1.o| =X 331,595
A-4 |2 sy 1.o| =X 80,656
ING 991,863
B |[FEE4hHERR )
B-1 [E#RE% T3 1.0 = 99,404
B-2 |NEEWETH .o = 517,040
B-3 |=y M DDt T. 5 10| =X 923,413
B-4 |#Z=- sty 1.o| =X 97,430
ING 1,637,287
&t 2,629,150




